Unit 9 — Homefun Packet —- DO ARE WORK ON A SEPARATE SHEET OF PAPER
Day 1 Worksheet — Review Radicals
Simplify the following radical expressions completely.

1. 625 2. 243 3. J/160a* 4. —X/-64
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Day 2 Worksheet — Exponent Review

Simplify the following.
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Day 3 Worksheet — Rational Exponents

Rewrite in radical form and simplify.

1 1 1 1
1) 243° 2) (36a°)? 3) -121 4) (-144):

J243 =3 J36a° =6|a’| _J121=-11 J—144 =12i

3

6) (—125k7)3 7) 442 8) (24x5)§ 9) 162

3
Y5k — 5Kk NBA=2VT1 Yaac —oxifa  (V16) =64
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10) (81n*)? 11) 625* 12) 3 13) (27x%)3
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14) —5x2 15) 112

6
T ol (\/1_1) —11%=1331

Rewrite in exponential form.

16) (V7 )g 17) 27 18) 316
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Day 4 Worksheet — Operations with Rational Exponents

Simplify. Write your answers in exponential form and radical from.
13 2Y? 67
1) 7274 2) (ZXSJ , 3) — 6 ! 36
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Day 5 Worksheet — Operations with Rational Exponents

Simplify. Write your answers in exponential form and radical from. Assume all variables are positive.

1) 5%-9% 2) 73.7% 3) [55.16§j7
1
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Day 6 Worksheet — Solve Expo Equations

l) 52X+1 — 53)(—5 X — 6 2) 4)( — 32 5
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5
X 8 1 11-x 5
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10) eBx+2 _ o312 X = 5 11) 16= 2x2 X = i2
13) y=27 and y=3" 3 14) y=32"and y=2"°
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15) 160 +8=24
x=11



ALGEBRA 2 Name:
Unit 9 Review Date: Period:

Simplify the following completely.
4
1. 432 2. Y2248 3. —2/5(4/10-6430 4. |= 10
’ 63/5 ;8.35 7a2 \/_( \/_ \/_) \/; B
N ~40/2 +60/6 5

5. 3J7n? ¢5¢/21n° 6. 803270 7. 12(315) 8 (iﬁjﬁij
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_21X_5y22 3\73 a3 4 _ 3)\3 4a’5b3 N
v 3y4 10. (4x°) X 11 (-3¢%®) (—2cd’) 12. (—16a2b2j
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17. 53
25325
105
21. 3336
74
72
29. 234

18. 273

282

19.

(6y?)3

6y°3/36y

1

23. 2682

30. 2°° =64

1

27. 63183

14

20. Simplify in exponential form:

1

22

31. 8 =647

10 32

X=—-4

X=8



32. 4 =1024
X=5

35. Solve the system: y =27 and y=3""

33, 64 = 2% 34, 4% =g
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36. Two students make claims about the expression y3/2. Each student’s work supporting

their claim is shown below.

Student #1

Student #2

Claim: y%/2 = (i/})z

Claim: y3/2 = \[y3

Work: y3/2 = (y1/3 - y1/3)

Work: y*/2 = (y -y - y)'/?
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Which of the following statements about each student’s work and claim is true?

A. Student 1 makes a correct claim and their supporting work shown is correct.

Student 1 makes an incorrect claim because y3/? = (y? - y? - y?)1/3

B
C. Student 2 makes a correct claim and their supporting work shown is correct.
D

Student 2 makes an incorrect claim because y3/2 = (y - y)1/3,

3r. Simplify the expression: y/1296x12y32

A. 6x8y?8

B. 6|x3|y8

C. 324|x3|y®

D. [324x1/3y1/8|



38. What value of x makes the following equation true?

y3/4 .
yx/8 = \/;

A x=7 C. x=5

B. x=6 D. x=4
39. Simplify: V4x7 + 9x2Vx3 — 5xVx®

A. 6x3x C. 16x°Vx

B. 8x3Vx D. —90x%/x
40. Simplify Vx7 - 3/x

A x22/15 C. x?

B. x D. x26/15



